MEASUREMENT | Help Code : 032

o +CONVERTING UNITS

A packet contains 1.5kg of oats. F::;—_:? m
6 small bricks have the same mass as 5 large bricks. ‘

. {? oats |

Every day Maria uses 509 of oats to make porridge.

/EE! !!‘\\ How many days does the packet of oats last?
—
The mass of one small brick is 2.5kg.
Show
. . your
What is the mass of one large brick? method
days
N
—
Show a Miss Mills is making jam to sell at the school fair.
your —— Strawberries cost £7.50 per kg.
method 4 \,\
k | & . Sugar costs 79p per kg.
(N g U 10 glass jars cost £6.90

She uses 12kg of strawberries and 10kg of sugar to
make 20 jars full of jam.

Calculate the total cost to make 20 jars full of jam.

Edl tﬂi

Show
your
method

2019 Organiser Out Now... All-New Arithmetic Ninjas, Paired Domino =
Activities, Self-Marking Papers, One Page Wonders and new Tutorial =
videos for last Summer’s SATs. Try it free press here! 1



https://www.youtube.com/watch?v=FMrMX_qKp_4
https://www.youtube.com/watch?v=5Sfz1xgAhGM
https://www.youtube.com/watch?v=Ag_AzbUhBic
https://www.tes.com/teaching-resource/2019-ks2-sats-revision-ultimate-15-in-1-maths-organiser-11989842
https://drive.google.com/open?id=1DQSgTL_ByD_-Lo1AR-d41QPzAGHkzbAZ

Chen pours 165 millilitres of milk into a measuring jug. One gram of gold costs £32.94

Draw an arrow on the jug to show the level of the milk. What is the cost of half a kilogram of gold?
= — /
ml
200— (
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_ Show
140 —] method
120 — ¢
- NI
100 —
80—
60—
40—
20—



https://www.youtube.com/watch?v=q5IQxDbXzcw
https://www.youtube.com/watch?v=uJFPPRuiIdg
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2013A KS2 Q20

Chen and Megan each have a parcel.

Chen’s parcel weighs 1%kg.

Megan'’s parcel weighs 1.2kg.

How many more grams does Chen’s parcel weigh than
Megan's parcel?

\

Show
your
working

grams

2012A KS2 Q17
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Freddie is half as tall as his mother
Freddie is one metre shorter than his father.

Freddie’s father is 180 centimetres tall.

How many centimetres tall is Freddie’s mother?

cm

2012A KS2 Q19 Here are five letters on a scale.
1 Iltre T 2 litres

|
| [ |
©

Match each letter to one of the capacities in the list below.

1200 m!

1.717

117

a
4

1560m!l

1.07/

2010A KS2 Q13

Liam has two different sizes of rectangle.

e

45cm

«—20cm—»

He makes this pattern with them

A Not
g actual
A = cm
Calculate the lengths of A and B.
B= cm



https://www.youtube.com/watch?v=G-2_AICqk1w&index=6&list=PLS3PH82bo0VAUYt9DB2Fmlhd1JQWarrbi
https://www.youtube.com/watch?v=k4sHG-73EOk&index=14&list=PLS3PH82bo0VDe9klJ5sY2Mfw12WyBmgEw
https://www.youtube.com/watch?v=EWtSB42IrK0&index=8&list=PLS3PH82bo0VAUYt9DB2Fmlhd1JQWarrbi
https://www.youtube.com/watch?v=jaSSyFAaI3s&list=PLS3PH82bo0VBN5y6ePJy8_v0zw611HJsJ&index=6

Parcels A and B together weigh the same as parcel C.

grapes pineapples peaches
£2.50 £1.40 £1.99
for 1 kilogram each for a box

Amir buys 2 pineapples and a box of peaches.

How much does he pay?
The three parcels weigh 800 grams altogether.

Ne

Lara buys half a kilogram of grapes and one pineapple.

Parcel A weighs 250g.

How much does parcel B weigh?

\

Show
your working.
You may get
a mark.

How much change does she get from £5?

A\

Show
your working.
You may get
a mark.

w Joe uses the two strips to make this shape.

Y
Joe has two strips of card. ﬁ

Each strip is 36 centimetres long.

One strip is divided into three equal parts.

i—- ? =
The other strip is divided into four equal parts. What is the total length of Joe’s shape?
Not
a_ctual Show
size your
working
- 36cm - cm



https://www.youtube.com/watch?v=QFWfVCnEj6I&list=PLS3PH82bo0VBgaF4RCu1nFganpFTSFBqV&index=14
https://www.youtube.com/watch?v=bRGQJle_S1U&list=PLS3PH82bo0VBgaF4RCu1nFganpFTSFBqV&index=8
https://www.youtube.com/watch?v=nPYX5yeCdnY&list=PLS3PH82bo0VAkEKofuCdfPUAD5mwjbv5U

2008A KS2 Q22 Nisha’s kettle holds 2 litres of water.

~
litres cups [ )
2 8
it
6
4 )
2
[ \

How many millilitres are equal to 1 cup?

\ ml

2007A KS2 Q4

Kate has a piece of ribbon one metre long.

She cuts off 30 centimetres.

How many centimetres of ribbon are left?

\

cm

2004A KS2 Q16

Mr Khan makes a blackcurrant drink for a party.
He pours blackcurrant squash into a jug.

N \,

500

400

300

200

100

ml/ EYﬁa

How much water must he add to make 500 millilitres
of drink?

/ ‘I|||‘|||||||||‘||||‘

o\ ml

2003A KS2 Q19

A packet contains 1.5 kilograms of guinea pig food.

Remi feeds her guinea pig 30 grams of food each day.

How many days does the packet of food last?

\

Show
your working.
You may get
a mark.

days



https://www.youtube.com/watch?v=1GJIIZKZNjE&index=10&list=PLS3PH82bo0VAiit-Ar3E596STjTK9BqKw
https://www.youtube.com/watch?v=7I-2wKxldOE&list=PLS3PH82bo0VDJAGKLywxQt-ny_SLKVqNu&index=8
https://www.youtube.com/watch?v=EI3oGSM3crs&index=22&list=PLS3PH82bo0VBJMWhA_KgnmlCz7eYt4Ic0
https://www.youtube.com/watch?v=j9Wi-9dT-Ck&index=3&list=PLS3PH82bo0VBdGoHWY0PRNLHEZaRU1Yqy

2003A KS2 Q12
it

A bottle holds 1 litre of lemonade.

Rachel fills 5 glasses with lemonade.

She puts 150 millilitres in each glass.

How much lemonade is left in the bottle?

\

Show
your working.
You may get
a mark.

ml

2002A KS2 Q15 0&!!

This table shows the weight of some fruits and
vegetables.

Complete the table.

grams kilograms
potatoes 3500 3.5
apples 1.2
grapes 250
ginger

@)

Here are a pencil sharpener. a kev and a rubber.
Actual size

Gjﬁ o

0 1 2 3 4 5 6 7 8 9 cm

What is the length of all three things together?

Give your answer in miIIimetres.\
! mm

What is the length of the key?

Give your answer in millimetres.

\ mm

0.03
2001A KS2 Q17
it

Measure accurately the longest side of this shape.

Give your answer in millimetres.

\

mm

Measure accurately the smallest angle in the shape.

Use a protractor (angle measurer).

\ o



https://www.youtube.com/watch?v=DggDk4uPZPE&list=PLS3PH82bo0VACc6WGPYZNEN468cuoU-Mp&index=10
https://www.youtube.com/watch?v=-mXiirmxfKA&index=12&list=PLS3PH82bo0VACc6WGPYZNEN468cuoU-Mp
https://www.youtube.com/watch?v=nQWUbcpcTrM&list=PLS3PH82bo0VCqE0GWRWRiDdD4jM58yTbl&index=9
https://www.youtube.com/watch?v=c8-HfpkZc78&index=15&list=PLS3PH82bo0VDJAGKLywxQt-ny_SLKVqNu

